	[bookmark: _GoBack]Nancy decides to sabotage Aaron and Omotola singing on stage. She sneaks onto the catwalk, in hopes of blinding them with the spotlight, so they wouldn't be able to continue singing. If she shines the spotlight down 30 feet and across 35, what is the angle of the spotlight that will be blinding Aaron and Omotola?



	

	Mark is standing 5 feet away from Kate’s condominium holding a radio. He is looking at her from an angle of 60 degrees. How far off the ground is Kate's window?


	Tara built a giant latte sculpture for the new Starbucks that was opening. The latte is 15 feet tall and cast a shadow that is 20 feet long. What is the angle of depression from the top of the latte to the end of the shadow?

	Jimmy was eating a Jimmy Dean sausage when it slipped off his fork and landed against the table he was sitting at. The sausage is elevated against the table leg at 5 inches, and stops 4 inches from the table leg. What is the angle in which the sausage is elevated?

	
The beast looks up at a tree of 20 feet. The angle of elevation the beast looks up at the tree is 30°. How many feet away is the tree from the beast?




	

	A convertible fell off a cliff at an angle of depression of 46 degrees. It crashed in the water 20 feet away from the base of the cliff. What is the height of the cliff?

	An airplane is en route from Boston Logan Airport to land at Raleigh-Durham airport. All of a sudden, one of the engines fails. At 7.4 miles above the ground, the plane must make an emergency landing into the Potomac River which is 50 miles away (by land). What must the plane’s angle of depression be in order to land in the river?

	A seagull is flying 80 feet in the air along the southeastern Pacific Ocean above the Polynesian Islands.  Below it, there is a massive frigate ship, named the USS Usnavi gently gliding on the ocean.  The angle of depression from the seagull to where ship meets the water is 20º.  What is the distance between the bird and the boat? Round to the nearest foot.

	The geyser goes up 20 feet in the air. A person is taking a picture of the geyser 10 feet away from the geysers base. What is the angle of elevation? 





	

	

	

	



